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Test of Statistics

1. Draw a box plot for the following data (25%):

2073 | 2277 | 2254 | 272.7 | 2180 M
21898 | 2482 | 2103 | 2387 | 2150 ‘
2249 | 2243 | 2699 | 2714 | 2350
2141 | 2337 | 2237 | 2544 | 2358
2192 | 2103 | 2164 | 2338 | 1974

[

If a normal manufacturing process with mean ¢ and variance o* has range of
specification equal to to, we call it a t-sigma process. If data point is out of
specification, it is called defective, Fill out the space with underline;
B ~ For any t-sigma process, the _____tis, the better the process is.(5%)
its yield is(5%)
i ~ For any process, the closer its mean to the target is, the its defective
rate is. (5%)

Z. ~ For any process, the larger its sigma is, the

| 3. Assume the standard normal distribution® is available, Given a normal distribution
with mean 3 and variance 9, what is the chance having value between 0 and 87 (10%)

4. If you have a sample of data from a continuous population from a manufacturing
process, what information can you check? List them by numbers (20%)

5. Give a test statistic to test means of two populations?(14%)

6. X is normally distributed with mean.2 and variance 4 and Y is normally distributed

with mean 3 and variance 9. (E(X+5Y)=2(4%)(2)If X and Y are independent
Var2Y-X)=? (4%) (3)E2X*+X)=? (4%) (4) If X and Y are independent, E(XY)=?
(4%) '




